


























P-8(CAC)

Syllabus 2016

T - %a)

(b)

(10)

BENCO LTD. a manufacturing concern which has adopted standard costing
furnishes the following information for the month ending March 31, 2019:

The standard mix to produce one unit of product Z is as under—

Material A 30kg @ T 30 per kg
Material B 40kg @ ¥ 50 per kg
Material C 50kg @ X 40 per kg

During the month of December 2018, 10 units of product Z were actually
produced and consumption was as under— -

Material A 320kg @ ¥ 35 perkg
Material B 475kg @ X 55 per kg
Material C 435kg @ T 36 per kg

. Required.

Calculate the following Material Variances:
(i) Material Cost Variance
(i) Material Price Variance
(iii) Material Usage Variance
(iv) Material Mix Variance :
(v) Material Yield Variance _ 8

ANKRITI LTD. manufactures product X and product Y during the year ending
on 31st March, 2019. It is expected to sell 7500 kg of product X and 37500 kg
of product Y @ X 60 and X 32 per kg respectively.

The direct materials A, B and C are mixed in the proportion of 4:4:2. in the
manufacture of Product X and in the proportion of 3:5:2 in the manufacture of
product Y. The actual and budget inventories for the year are as follows:

Particulars Opening Expected Anticipated
Stock (kg) | Closing Stock | Cost per kg
(kg) 9]
Material A 3000 | 2400 10
Material B 2500 | 5800 8
Material C 16000 17300 6
Product X 1500 2000 —
Product Y ; 3000 3500 —
Required.:

Prepare the Production Budget and Materials Budget showing the purchase cost
of materials for the year ending 31st March, 2019. ;s
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8. Answer any three out of the following four questions: 5%3=15
(a) Distinguish between Cost Allocation and Cost Apportionment.
(b) State the main objectives of Cost Accounting.
(c) List out the various measures to reduce the Labour Turnover (any five).

(d) Write a brief note on Master Budget.



